Alg 2 Problem Set #10                                              Name_________________

Date due_________



NO WORK = NO CREDIT!!!…..SHOW ALL WORK!

	1-2 Graph the quadratic.           (include the vertex!)
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	3. Solve using the quadratic formula: 
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	4  
Write the equation of the line in POINT-SLOPE  FORM

     (3, 6) &  (8, 8)         


	5
          Factor completely
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	6    Factor.
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	7-9   . Solve by factoring
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	8.     
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	9.    Multiply:


[image: image9.wmf])

3

9

)(

3

(

2

2

y

xy

x

y

x

+

-

+





10.  
  A doctor allots 15 minutes for routine office visits and 45 minutes for full physicals. The doctor cannot do more than 8 physicals per day. Her schedule only permits at most18 routine office visits each day.  The doctor has 7.5 available hours for appointments each day. A routine office visit costs $60 and a full physical costs $100. How many routine office visits and full physicals should the doctor schedule to maximize her income for the day? What is the maximum income?
a)  Define the variables 


b)  Write out the constraints


c)  Graph the inequalities.  


d)  What are the vertices? 

e)  What is the profit function?  

f) Answer the last two questions from the paragraph above.
# of routine office vistits
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